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Question Number : 1 Question Id : 3354726031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich of the following is known as the ‘energy capital’ of Madhya Pradesh? | FFaieaT 8 & e wer wdar & 3t
AT oF & H FHT ATaT 57

Options:
1. ® Bhopal | 9
2. ¥ Singrauli | TR

3. % Jabalpur | S&EAYY
4 ® Indore | 22X

Question Number : 2 Question Id : 3354726032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the first person to have given the basic rules and concept of Yoga. | 9 & SR 2 3T sreremom
1ol WeTH =i T 0 a0

Options:

1. ® Ehoja | 9

2. ¥ Patanjali | Taier

Z. % Dhanvantari | e==aer
4. % Yagbhata | ImT

Question Number : 3 Question Id : 3354726033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In terms of land area which is the biggest Union Territory in India? | Y% 86 & SERIT § T &1 Taled a7 g
ST W T &7 57

Options:

1. ¢ andaman and MNicobar Islands | SiZHH Ue FRTe & meEng
2. % Pondicherry | U=

3. # Chandigarh | 929

4 % Daman and Diu | ST UT T

Question Number : 4 Question Id : 3354726034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Internaticnal Day for the Elimination of Racial Discrimination is celebrated on

T 2T U Te o S+ o ol Sfaig e fee, wadw ey ____________ T HATAT AT &1
Options:

1. % 21st March | 21 A
2. % 15th March | 15 AR
% % 13th March | 13 9=
4. % 10th March | 10 A=

of every vear. |

Question Number : 5 Question Id : 3354726035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who amorlg the following was the first ever fermale gymnast from India ever to compete in the Olympics? | FH

fiFETE § T AT AT T | & B 9T @ Ugel! Aigel e o1

Options:
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1. % Mohini Eharadwaj | Afg=T IWEr
2. ¥ Deepa Karmakar | <07 ®A@T

I % Sakshi Mallik [ 9747 Bl
4. ¥ Bombayla Devi | ST 20T

Question Number : 6 Question Id : 3354726036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does NITI' stand for in NITI Avog? | Sifa s & ‘WITI &7 F47 J1e0d 27

Options:

l.p ¥ Mational Institution for Transforming India | S SEC I B ZIEGIET SiaaT

2. % National Institute for Training & Intelligence | 999 SR B o1 U8 Ediomid

3. % National Institute for Teaching & Information | S gtele BIC I U8 SAHHIT
4 % National Institution for Technology in India | S99 SEaega= BT ST 5 51EaT

Question Number : 7 Question Id : 3354726037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
When was PIN Code systern introduced in India? | 9Ra § U049 #1Z U0THT Fel I &1 175 217

Options:

1. % 15th August 1947 | 15 a7®gT 1947
2. % 26th January 1952 | 26 e 1952
3. ¥ 15th August 1972 | 15 ef®T 1972
4. % 15th August 1975 | 15 aF®q 1975

Question Number : 8 Question Id : 3354726038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The International Textile and Apparel Fair - Vastra 2017 was held in which city? | SR 987 U UieenT #77-
TeT 2017, Tore age # st e e ar?

Options:
1. Jaipur | ST
2. % Surat | @A

3. % Coimmbatore | HIFeT
4. % Kolkata | iA®EET

Question Number : 9 Question Id : 3354726039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the second and latest novel of Arundhati Roy released recently? | gTe g1 # ST ol T ar&uia €0 o gEE 31T
FUT T AT TqTE47

Options:

1. ® The God of Small Things | T T HTF THIA 2

2. % The White Tiger | T 55 2BTK

2. % Two States : The Story of My Marriage | T 9609 g T21T 2ATE A5 Al
4. % The Ministry of Utmnost Happiness | T Wi TF seAes soiiad

Question Number : 10 Question Id : 3354726040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
which leader from Madhvya Fradesh becarme the Home Minister first and later Defence Minister in Nehru's

cabinet? | W U2 & T & =97 Ul g 747 3T a2 # 95% o AlAAS 0 787 7t a7
Options:

1. ® shiv Bahadur Singh | e sggx €y

2 % Ravi Shankar Shukla | Tier s I

3. ¥ Kailash Nath Katju | Femaems #eg

4. % Shankar Daval Sharma | 99 Za7 ST

Question Number : 11 Question Id : 3354726041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Tansen Music Festival is held in | TTET BT GHRIE,

Options:

1. % Ehopal | |
2 % Indore | 22K

= % Ranchi | T=T

4, ¥ Guralior | TR

Question Number : 12 Question Id : 3354726042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which direction does the idol of Mahakaleshwar in the Mahakal Termple, Ujjain face? | 39 & AgI@e At §

HETHTeIIER &1 O e foam o 87
Options:

1. % South | Zham

2. % East)qd

3. % MNorth| 3@

4 ® West| UpESg

Question Number : 13 Question Id : 3354726043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Narme the largest national park of Sidhi District. | @t 7w &7 9 921 799 38 #1991 87

Options:

1. % Bagdara wildlife Sanctuary | SR S=a=d SRR
2. ¥ Sanjay MNational Park @34 T9 M J&I9

% % Mandla National Park| AE#T T8 I2

4. ¥ Kanha Kislij #wgT et

Question Number : 14 Question Id : 3354726044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Jawad and Manasa in Neermmuch are farmous for

Options:

1. ¢ Rock paintings | @gM =@
2. % Industries | JEMT

3. % Parks | J=I4

4. % Gardens | =T
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Question Number : 15 Question Id : 3354726045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fani Durgavati Museum (Sangrahalaya) is situated at _________ RG] IS A 1 e H e B

Options:
1. % Jabalpur | S&EeyY
2. ® vidisha | =g

3. % Shajapur | =T
4. % Narsinghpur | STHEgT

Question Number : 16 Question Id : 3354726046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
what is the name of the Fossil Park established in Dindori? | e H w2nitg Siam4q UTéh &7 =719 47 57

Options:

1.IO ¥ Ghughwa MNational Fossil Park | gaar T8 2 SiaTad ard
2. % Ken Fossil Park | 3= SaTsW T

Z. % Son Fossil Park | @9 SaTaW o

4 % Kuno Fossil Park | F-1 Samad Ok

Question Number : 17 Question Id : 3354726047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which is the first state in India to achieve 100% electrification of households? | ¥Rd # 100 % feegdiwm o &=
ATAT TR AT = 1T AT 57

Options:

1. % Gujarat | =0T

2. % indhra Pradesh | 3T W2
3. ® Madhva Pradesh | FeT0aT
4. % Meghalaya | HO&T

Question Number : 18 Question Id : 3354726048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Gyandoot, an e-governance project, was started by which of the following states? | Haisiad # & frg twa =
AGd, U -ITE WK =T 1 W fora o7

Options:
1. # Bihar | fegW

2. % Azsam | SR
3. % Maharashtra | AgWIE
4. Madhva Pradesh | FeT 0aT

Question Number : 19 Question Id : 3354726049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following districts of Madhya Pradesh is also called as Mudwara? | We W2y ¥ FgeEs et d &
T TERT FET AT 57

Options:

1. ® Sagar | 9O

14th Decl7 Shift 2



14th Decl17 Shift 2

2. % Anuppur | ST
3. % Agar Malwa | ST HEAAT

4 % Katni | ®eAT

Question Number : 20 Question Id : 3354726050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Options:

1. % sitar | #AR
2 ¥ Sarod | WG
3. % Tabla | TedAT
4 % Santoor | AT

Zeneral Maths and General Aptitude

Section Id : 335472164

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472164
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Twotaps fill a cistern at the rate of 1 litre per minute and 2 litre per minute, respectively. A third

tap empties it at therate of = litre per minute. If the capacity of the cistemn is 1000 litres, then

e

how much time will it take to fill it if all the three taps are open? /

&l oTel Uah cchl &l e 1 elex fa fAeie 3t 2 e ufa fAae & X & s €1
e AT e 3 e o e B ¥ @ e 1 AR G A s 1000
oliex ©, oY 38 eRay & Fohcar o oo, afe welt et e ger gu 82

Options:
1. % Phrs | 7

= % B hrs 40 min [ & 9¢ 40 9T
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. % £ hrs 30 min [ & 9¢ 30 9T
4 ® Ehrs |6

Question Number : 22 Question Id : 3354726052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the 2019% digit in the decﬁnalg—:;? / EAHT E—jﬁr 20197 3+ T B?
Options:

1.¥5

2 %3

3 %1

4 %0

Question Number : 23 Question Id : 3354726053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The area of a triangle with a base of 18 cm and height of 11 crmarea is

g o TR toT T gAwe ______ ERE
Options:

1.% 3

2. % 100

3. ¥ 93

4 % zg

Sq.CmL | 18 HET AT T 11 |AT

Question Number : 24 Question Id : 3354726054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If (64)2-(36)>=20x, then what is x? / TfE (64)2-(36)>=20x. AT x FT &7

Options:
1.9 140

2. % 130
3% 120
4. % 100

Question Number : 25 Question Id : 3354726055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | sf|g e

42, 69, 15, 54, 25
Options:
1.9 41

2 % 51
3. % Bl
4. % 31
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Question Number : 26 Question Id : 3354726056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

125 57

S BE 5B ]
5 3125

Options:

1. % 00008
2 ¥ 0008
2% 008
4 % 08

Question Number : 27 Question Id : 3354726057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

—

2+1 ” [2+1 -
= [ 3x2-18x+7 gol ST Ffe"=— W Fgewifera

*lll
22— Vv2-1

Solve 3x2 - 18x + 7 if evaluated at

forar =

Options:
1.9 4

2w 27
3% 24
4 % 10

Question Number : 28 Question Id : 3354726058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

John wallked half the distance to school. He realized that he was late and ran the rest of the distance. If he
walked for 12 minutes and he ran four times as fast as he walked, then the total tirme taken by John to reach

school is_____ | =T e o ST et gt qk TIe I URHTE pet o 39 S0 BT T S A gl Ie Sig AE) i ay 12
ToE o TRl i ST T dT & o ST 6 ) T o G127 a1 Teeimere Ugar & Tely S @1 gl T FET /N

Options:

1. % 18 min
2. % 15 min
2 % 21 min

4. * 25 min

18 fime
15 fiqe
21 i

!
!
!
| 25 fime

Question Number : 29 Question Id : 3354726059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the string DIAGONALDIAGONALDIAGONAL ... DIAGOMNAL, where DIAGONAL 15 repeated 20 times. [n the
first stage, odd position letters are deleted. In the residual string, again odd position letter are deleted. This IiS
continued till a single letter remains. What 15 it | 7 DIAGONALDIAGONALDIAGOMNAL . DIAGOMNAL H T

DIAGONAL & g=RTad | 20 1 g8 &, Wom =iw # Tea feridal o aryet o1 e fgar =T g1 99 g7 &, O & o i &
a1yt T THeT 12T AT 81 UF 99 9F 2 I5LIAT AGT & e a9 19 ST U SI8¥ 5] 15 AET o] 9 FAT 87

Options:
1.9 L

2% G
2%
4 %1
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Question Number : 30 Question Id : 3354726060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bag has four cuboids and three cubes. What is probability of getting 1 cube? | UF & H TR AR T 919 7= 21
1 = UTH i+ T Ui T FT 57

Options:
1.9 27
2. % 417
2% 1
4. % 217

Question Number : 31 Question Id : 3354726061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& earns 20% of what B earns. E earns 60% of what C earns. If they together earn Rs. 12900 a month, then the
difference between C and A's earnings is ___. [ A, B @7 32 #7 20% HAET 51 B, C @1 3174 BT 0% HHET 51 9 of
Toewe T AIE H 12800 04 FATT &, 91 C 31 A &7 T & & Sfd7

Options:

1. % R 2200 | 2200 @03
2. ¥ Rs. 6600 | 6800 73
3. % Rs 3300 | 3300 @03
4. ¥ Rs. 4400 | 4400

Question Number : 32 Question Id : 3354726062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& pipe can fill a cistern in 12 hours and another pipe can ermpty it completely in 18 hours. If both the pipes
are operted together, then the cistern will be filled in: | U@ WEd 12 Ol # U 517 &1 9 G9d1 & Ud gaeT oy 18 gef |
TET I 1 qUT & & WIeT 6 ThdT g1 TG oH1 TI5d TF JF Gl A 5, a1 51 5a+ del 9T AT

Options:

1. % 30 hours [ 309
2. ¥ 36 hours | 36 ©¢
% % 40 hours | 40 ¢
4. % 44 hours | 44 ©¢

Question Number : 33 Question Id : 3354726063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fist& wears older than @ who is twice as old as B, If the total of the dges of P, Qand R be EE w2drs, then how

oldisP? | P, Q@S ad g1 2 91 [F R A NI AT 81 A P, Q &R &1 §d A1 55 a4 &, 1 P &1 &7 Torar a7

Options:

1. % 10 vears [ 10 a9

2. % 1Svyears | 1599

= % 20vears | 20 99
!

4 ¥ 25 vears | 2599

Question Number : 34 Question Id : 3354726064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The area of a trapezium is 2400 sq.cm and the sum of the parallel sides is three times the height. If one of the
parallel sides is 40crm, then the other side length in crmis___. | U SR BT 890 2400 aﬁﬁﬁr% ST AT et
T AT, FaTs T o 4 A7 51 Aiey Tek THTT 1T 40 HHT g, T7 HAT H 3172 =17 &1 ohells ____ 7l

Options:

1. % 120 ¢cm | 120 99T
2. % 40cm | 40 FAT
= ¥ 80cm | 80 AT
4. % g0cm | 60 TAET

Question Number : 35 Question Id : 3354726065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What should be subtracted from the sum of 2 489 and 1.20, so that the difference is 27 | 2. 4589 3w 1. 20 &
Th & FT W17 AT =ey, e foF armav 2 517

Options:

1. % 125
2 % 2EB
3. % 163

4. ¥ 1689

Question Number : 36 Question Id : 3354726066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If 122446 is divisible by 18, then the value for & is___. | A7 123446, 18 @ TM=a 9T A FTAM ____ 3

Options:
1.¥2
2 %1
3% 9
4 ® 7

Question Number : 37 Question Id : 3354726067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
099 %x 009 =?
009

Options:

1. % 990809
= ¥ 935996
2% 999524
4, % 995993

Question Number : 38 Question Id : 3354726068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Abhava tales & hirs 1o build a doll house and Vinay takes B hrs to do the same. If they both decide 1o work

together, then how many such doll houses they can construct in 48 hrs? | SFE7 TF T o T 6 uE AT
& T e B U T 0 S 0 A gl Aie o S U T - W A o B, 97 o 48 ° ¥ U T S aTe] 591 9 57
Options:
1. % 7
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2. ¥ 14
3% 21
4. % 28

Question Number : 39 Question Id : 3354726069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A train 150 metres long passes 4 telegraph post in 12 seconds. Find the speed of the train? [ T# 150 HZT wail
TATTTET e o T o B9 T 12 é’cﬁuaﬁtrr{aﬂﬁ% CATIET H T AT w7

Options:

1. ® 10mysec | 10 Hiee)g@r=

2 % 1S msec | 15 AT/ OFT=

2. ¥ 125 m/sec | 12.5 Hiet/Grs

4 ® 12 mfsec | 12 Hier/OFT=

Question Number : 40 Question Id : 3354726070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When 20 15 subtracted frpm a nurrber, the rESglt is 80% of the number. Find the number? | =& 7% &7 & 30 F
T AT &, T OO 39 4T &7 80% F1a7T 51 9 TEdT &1 AT F4

Options:

1. % 120

Z % 110

3.9 150

4. % B0

Ceneral Hindi

Section Id : 335472165
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472165
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T A -
Options:

1. ® wam
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= W Sy

3. % gy
4. % STRET

Question Number : 42 Question Id : 3354726072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

el FH AT T HHTIE G &, o1 a5 WO T 1 | &0 FraT 57
Options:

1. v HiiE®

o % ofEe

3. % [hEEdE

4, ¥ guTiE @At

Question Number : 43 Question Id : 3354726073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ot waet oF Igor | 2F Aranadt & S1iee a6 @, F HEAd § -

Options:

1. % SR
2, ¥ LT T
3. % gEg T

4 % AT

Question Number : 44 Question Id : 3354726074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
g T FIRT -
Options:

1. % Faud

= % Frod

3. ¥ O™

4. % g

Question Number : 45 Question Id : 3354726075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT & ATAT a0 51 5 -
Options:

1. %3

2. %

3. ¥ wR

4 %0

Question Number : 46 Question Id : 3354726076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IR IR R R AT K

Options:
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1. % gy

= & fqam

3 ® i

4. ® grara-t

Question Number : 47 Question Id : 3354726077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

R o B # 3 o) o e R A AT 7
Options:

1. % g

2 ¥ fag

3. ® gfug

4 % ugf

Question Number : 48 Question Id : 3354726078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T T A ede Mg A F T AT e
Options:

1. % JO+am

2 VX e

3 % dgtar

4 ® Stamm

Question Number : 49 Question Id : 3354726079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T T A geg MR S F AT E?

Options:

1. % T
2. % R
3. T
4 % ged

Question Number : 50 Question Id : 3354726080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘sFF ITE & T greg P & A B
Options:

1. % foamg

2. ¥ s

3 ® arfdeer

4 % grfeeTer

Question Number : 51 Question Id : 3354726081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T g | | # & %9 |1 |30 27
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Options:
1. % g A
2. ¥ Joyey qaT

3. % iy ga
4 % g g

Question Number : 52 Question Id : 3354726082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘3 7 AT 3T ggrak T el Mg H g w ar gy
Options:

1. % SITIT G T

2 & T T AT AT

=z ® Tl A T AT

4. % Fgd @E AT

Question Number : 53 Question Id : 3354726083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Sifr T g T M H T H@ AT
Options:

1. % aiferd

2 % arvarw

2 ® amfew

4. it

Question Number : 54 Question Id : 3354726084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:
1. % g
2 %5
3. %7
4 ¥ 9

Question Number : 55 Question Id : 3354726085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"l el I FH FoA

U WX aa JTeT el & ¢

H B AT aFw R 5 J5f fowed gimu?

Options:
1. % FouyT sEw
2. % TOF JAF
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Question Number : 56 Question Id : 3354726086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TUH AT eg gy — SHE
Options:

1. % Swiei®

2 ® et

3 o FEE
4 ® qEATEE

Question Number : 57 Question Id : 3354726087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o gA § 21 G2 9AE 5, TIE W AT TS T 51, 36 @I 97 GA @gd 57
Options:

1. % frads

2 W ZeZ wHE

3. ® oIt A 9H

4. % HART U

Question Number : 58 Question Id : 3354726088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T, 1T
ek e e A 5, mﬁﬁ%@gﬁ

Options:

1. g o
2 % Adedaea T
3. % ik T

4 % gEad

Question Number : 59 Question Id : 3354726089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o5 T, qA et , T AT cHag |
T gg Al g g @, o0 9 °0 T ||
FIT AT 27

Options:
1. dwam

2 ® TEgYH
AR By
4. % Ew T

Question Number : 60 Question Id : 3354726090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘T T T # & w1 i ge
Options:

1. % o7 Hper
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=, o ghg Afer
4 % 17 e
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Eural Economy and Panchayati Raj

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

335472166
4

Online
Mandatory
20

20

20

Yes

No

1
335472166
Yes

Question Number : 61 Question Id : 3354726091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who ap%x;oves the programmes and projects of a Gram Panchayat? [ TTH U=l & SreH! T gier-rat & #19

HIET T

Options:

1. ® District Collector | FwTetar

2. % Zila Panchavat | FaT /e

2. ¥ Grarm Sabha [ U

4. % Janpad Panchayat | F=0g 0=Tad

Question Number : 62 Question Id : 3354726092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Owmership of minor forest produces comes under

Options:

1. % Gram Panchayat | TW T=aa

2. % Janpad Fanchayat | F=0g T==T
% % Zila Panchavat | F&T /=T

4. % State Government | T TER

Question Number : 63 Question Id : 3354726093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is known as ‘Hariyali’ guidelines? | ‘g foam-dart & w0 # & AT <61 27

Options:

1. % adoption of new agricultural techniques | 7% Y FE@- @1 BT STAHT
2. % Usage of high quality seeds | 33 TUTaRIT aTel &A1 FT U HAT
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= % Cultivation of green vegetables | gOT Aleal &l HdT FAT

4, ¥ Entrusting entire responsibility for implementation of watershed projects to Panchayats | Taal &1 97
it 3 Freriraa @ o ger

Question Number : 64 Question Id : 3354726094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following DOES NOT provide agricultural credit directly? | FE@ET # § 19 91 ge dre gy =
TS el &edT 57

Options:

1. ® Primary dgricultural Co-operative Society | WEALT TRl & - STadied HIHTse ! (Wi §iy Tgn il i)

2. % State Co-operative Bank | /=0 Gg@WT d@

Z. ¥ Reserve Bank of India | ¥Rd 17 7 oF

4, % MNationalized Eank | (g d@

Question Number : 65 Question Id : 3354726095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A& recent ICRIER report noted that Madhya Pradesh's wheat production increased frorm € million tonnes in

2005-06 to million tonnes in 2014-15. | 516 5T # U AEATSITTEs o & Wule # Iieead feraT 7T & o 7

w&ar # Tig @7 IeuTeA o 2005-06 # 60 o o § a5 2014-15 # ____ & fferad & g1 mam
Options:

1. % 231

2 % 98

3 % 151

4 ¥ 171

Question Number : 66 Question Id : 3354726096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Ir1 what ratio 15 the cost under Swarna Javanthi Gram Swardzgar Yojana shared by Central Governrment and

respective State GOvernmments? | ohg SME- T GaTad T2 AT 2R a0 =2 T TR ST AT o S #@mra @ T
ST H ATSAT T AT 27

Options:

1. ¢ 75 25

2. % 5050
3. % 6040
4. % 40 80

Question Number : 67 Question Id : 3354726097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Chairperson of the District Development Co-ordination & Monitoring Comrnittee (DISHA) will be the

| T Tee T THea ST TR ST (e & arey

Options:
1. ¥ Zilla Panchayat President of the District | et @7 Far vamaa sreyg
= % District Collector | T ®eiget

3. % Senior-most Member of Legislative Assermbly elected from the District | Fer & g7 T2 watté @i Erem
AT o
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4. Senior-most Member of Parliament (Lok Sabha) elected from the District | et & T 727 Haitee aie g6
TE (FTF o)

Question Number : 68 Question Id : 3354726098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The governument is preparing Devolution Index which will measure social ermpowerient of people at the: |

TFT TSI SSad G FC Tg! 5 A1 AN o STHIE S 0 B R $a¢ o JIumi
Options:

1. % Panchayat level | U=ad #9¢

2 % Block level | fo@@ @2 ¢

3. ® District level | @7 #9¢

4 % State lewel | T &1

Question Number : 69 Question Id : 3354726099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ihe state of Madhya Eharat enacted the Madhya Eharat PELHChEL‘j.FELt Actin
T ST & H araaiaT frm

Options:

1. % 1920
=z ¥ 19439
3% 1947
4. % 1956

| e ARG o T o Hed 9Nd

Question Number : 70 Question Id : 3354726100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Madhva Pradesh Land Survey Act was enacted in

et TIIT 2
Options:
1. % 1936

2. % 1942
3. ¥ 1947
4. % 1958

Question Number : 71 Question Id : 3354726101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Vermi-compost refers to organic manure produced by ____. | GHI-0E T T e '@ ®f gafar 8

Options:
1. ® Vermins | #iT

2 Earthworms | =0
% % Cowdung | T @ M=
4. % Agriculturs Waste | FiH smsy

Question Number : 72 Question Id : 3354726102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first National Mineral Policy was announced in _____ .| mEdT e |t A o wifte & e ofh
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Options:
1. % 1970
Z % 1920
3. ¥ 1993
4. % 2008

Question Number : 73 Question Id : 3354726103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When was the Panchayati Raj System inaugurated by Pandit Jawaharlal Nehru in Nagaur? | 4led Sageae J5e
BT AT H G T ¥ WUTTeT BT AT el galT 417

Options:
1. # 1956

2. % 1957
3. % 1958
4 ¥ 1959

Question Number : 74 Question Id : 3354726104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of these is not included in natural resources? | SAH o FAT NTHTd® GETeH] 7 STHA 51 57

Options:

1 % Soil J maEr

2. % Water | Id

3. ® Trees-plants | U= 0rer
4. ¥ Months | AT

Question Number : 75 Question Id : 3354726105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho is the Minister of State for Horticulture and Food Frocessing (Independent Charge) in Madhya Pradesh? |

T2y W H amTaTT ST WS W o T HAT (Fadd W) T 57
Options:

1. ® Lalitha Yadav | @ledT a5

2. % Vishvas Sarang | e awT

3. ¥ Surya Prakash Meena | &2 weera GHT

4. % Harsh Singh | 79 &%

Question Number : 76 Question Id : 3354726106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the percentage of villages electrified in MF under Deen Dayal Upadhs?ya Gram Jyotl Yojana as on
Septernber 20177 f%’d?ﬂzr:ll? T {Ed WA H S ST JUTEdTa UTH =i, ST Tkt Hicar Tt # Terstedt

Options:

1. # 20-8%
= % BE-90
3. % 91-95
4. % 9E8-100
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Question Number : 77 Question Id : 3354726107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

%vesto%k census is conducted in India in every _______ years . | TE[E SO Uede _______ a0 A IRT | AT

Options:
1.¥5
o % 4
3 %3
4 ® 2

Question Number : 78 Question Id : 3354726108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘AGRI UDAAN pertains to_______ | i IEE T o et 5
Options:

1. ® Start ups in aviation section | 3599 &9 # FeRe-amT

2. % Start-ups in agriculture sector | FY 83 H wR-a0

= % Transportation of agriculture produces | §Y Je01E! & T a5
4 % Scherne for landless labourers | $HE R STHHT g AT

Question Number : 79 Question Id : 3354726109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the following is MNOT a function of a Member of Parliament under Saansad Adarsh Gram Yojana ? |

qiHg A1 W AT @ v TgieiET § & 29 697 #1296 9aEd & A5l 27

Options:

1. ¢ Conduct survey of villages | =T & T w7

2. % Identify and select the village | M & Miveq o Tai=g #=r

3. % Engage with the cormrmunity and motivate thern | SES & @1 F247 10 375 U HeT
4. % Monitor the progress periodically | TAT-TAT UT WE &1 AT FT

Question Number : 80 Question Id : 3354726110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a sub-scheme of Deendavyal Antyodaya Yojana - MNational Rural Livelihoods Mission

DAY-NRLM? | o & TSI aicaied AT - e e (2 -TA3TRUAUH) @ J0ar==T & 61 57
Options:

1. #® Mahatma Gandhi National Rural Ermployrment Guarantee Scherne | HgedT el S ®3e THIHA He e b H
2. ¥ Agjeevika Grameen Express Yojana (AGEY) | ST TTHIT TePaue =T (e a1e)

= % Swarna Jayanthi Gramin Swarczgar Yojana | @ S<d T T 2 AT DT

4. % sansad Adarsh Gram Yojana | @19 SIS T8 FET

Cornputer Knowledge

Section Id : 335472167
Section Number : 5
Section type: Online
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472167
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The collection of cornputers and servers that are connected to each other using routers and switches around

the world is known as: | HTIEt S T BT H0F A1 T gHC G G T # T3 ST TRl & I grT 92 §51d §, #gaer s
Options:
1. ® Firmwmare | BHIAT

= ¥ Internet | TodAT

3. ® Intranet | T2He
4 ® Middleware | THiZadow

Question Number : 82 Question Id : 3354726112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a font style? | FAAET § € &4 UF BT G254 T3] 27

Options:

1. # Calibri | Fieel

2. % Arial | Ui

3. % Arial black | UHad geiw

4 ¥ Arial white | THaH gEEC

Question Number : 83 Question Id : 3354726113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the browser name that is developed by google? | TIe &R T a7 7 31 727 77

Options:

1. #® Googlygoogle | THTENITE
= % Chrome | %0

3. % Firefox | BIZNEIET

4 ® Titanium | 70

Question Number : 84 Question Id : 3354726114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
PROM stands for: | PROM FTaw04 & ;

Options:
1. ®¥ Prime Read Only Memory | WEH TIZ A-sT HAT
2 ¥ Prograrmrmable Read Only Mernory | WIHTHA T2 ST 1 HART
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3. % programmable Randorm Only Memory | ATHa 1287 - HH
4 % programrmable Read Only Machine | WOmes O a6t g

Question Number : 85 Question Id : 3354726115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What happens when you select a cell in M3 Excel and type “=E25"7 | F4T §dT & el AT TAIE UFad § UF G doie
T § AT “=B25" TR @ &7

Options:

1. ® The selected cell will show ‘=B24' | Helde @1 T8 @ # "=B24" Tg&@m

2. % The selected cell will show an error | #@@e & 115 dd 1 Fie fa@rt

3. ¥ The selected cell will show the value that is contained in cell B2S | Seide &1 T8 A | og 7 @ St 97 B25
Hgmm

4 % The selected cell will be blank | ST &1 115 Ha W g

Question Number : 86 Question Id : 3354726116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of copying file from remote server to local drive is as known as: | AT 9d¢ § B5A &1 Al@d SEd §
Eh?ﬁ'm%(%:

T S T ITeraT

Options:

1. % Dowmloading | STaAaMST
2. % Uploading | S&AMET

Z. % Browsing | @TIrm

4. % attachment | s

Question Number : 87 Question Id : 3354726117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The expansion for FTPis: | FTP #Tfarga &0 5

Options:

1. % File Transfer Protocol | TS EEE T2 e
2. % File Turning Protocol | TS 2i=1 e i@e

3. # File Transfer Prograrm | TS A HHTH

4 % Filed Transfer Program | BIEAS IEEL HITTH

Question Number : 88 Question Id : 3354726118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A consists of a set of rows and columms in excel | THEdA |

p it oA et o g @ aT R B

Options:

1. # ternplate | 30T

2. ¥ workshest | T
3. % work page | 9% U
4 % work space | o GUE

Question Number : 89 Question Id : 3354726119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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which shortcut key is used to center a paragraph in MS Word? | TAY @2 # ST B H7 o0 & oy & o a1e-we
FT &Y

Options:

1. % Cirl+E

2% Cirl+a

3. ® Cirl4+R

4. % Ctrl4C

Question Number : 90 Question Id : 3354726120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘iN‘rlat is the shortcut key used to open the “Find and Replace” window in MS Word 20077 | UTRTH. 92 2007 #
wEE U fogee ﬁﬁ@ﬂ%ﬁiﬁﬂﬂﬁ??ﬁ ME-Te Fl o7

Options:
1. % CTEL +C

2 ¥ CTRL +F
3. % CTREL+R
4 % CTRL + 5

Question Number : 91 Question Id : 3354726121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following keys is used to "ZO0M OUT’ the desktop? | FHATET § # T il &1 SUT SHHIT F1
“FH ATIT FA & T Tk AT 27

Options:
1. ®* Windows Logo Key + Home Key

= % windows Logo Key + Spacebar Key
2. # windows Logo Key + Plus Key
4. % Windows Logo Key + Minus Key

Question Number : 92 Question Id : 3354726122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to rmake the selected text italic in MS Word? | TATA g2 H, Hide T 7 dgee 1 5eio®
T o oy Ty e —ape it T SO et AT 27

Options:
1. % Ctrl+]

2% Ctrl4+K
3% Cirl+l
4 % Crrl+Alt+]

Question Number : 93 Question Id : 3354726123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
________ is used to transmit information on the World Wide Web. | ________ Tieie d158 o W o1 TERT & T6l 0gd

Options:
1. % HTTTF
Z. ® HTFP
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3. ¥ HTTFP
4 % HPPT

Question Number : 94 Question Id : 3354726124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ISP file extension stands for: | JSP B15a Ugpadad & a0 &

Options:

1. ¥ Java standard files | 9T G322 TEad
2. ¥ Java server pages | SAT Ga¢ U

3. ¥ Java server pipes | a7 ¢ TETH

4 % Java server pop ups | STET Ga¢ 91 70H

Question Number : 95 Question Id : 3354726125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of copying data from a memory location is known as: | HANT Al & 227 ST - &1 AT Fgad &

Options:
1. ¥ Reading | TIfET

2. % Controlling | #iiam
% % Hand shaking | 8= 4T

4. ¥ Writing | TERET

Question Number : 96 Question Id : 3354726126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is internet? | gei-e a1 87

Options:

1. # Internet is a telecom company | Set-e U@ oo H BT &

2. ¥ Internet is worldwide networking of computers | $e¥-¢ FHYIEL BT THqagml SgataT g
3. ¥ Internet is a satellite systermn | $24-¢ TF GG HHCH &

4, % Internet is a systemn of controlling missiles | Eev-z FATEAT #1 T # & W0THAT 8

Question Number : 97 Question Id : 3354726127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The rmain screen area that you see after you turn on your Coraputer is: | T - T AT 7 3170 ey 1 =l
T FF AE S &

Options:

1. % Start Menu | &% 8

2. ¥ Desktop | 2€@e

=, % File Manager | TISA H-=

4, % Operating System | TR Eeeq

Question Number : 98 Question Id : 3354726128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_________ 15 the unauthorised use, duplication or sale of copyrighted software. |

STTTTEIGT SO, Wie e Taeeor 7 Teiefr

HIRTSE AT el &
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Options:
1. ® Licensed software | MSHHS STFcay
2. % Privacy software | WEad! GFday
= % Pirated software | Uetes A1FedaT

4, % Open software | U STt

Question Number : 99 Question Id : 3354726129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT an option in clipboard in MS 20077 | TAUE 2007 # F=iHEs 8 9 &9 91 deay

TS B e e 27

Options:

1. ® Paste | UqT

2 % Cut @

= % Format painter | A U2t
4. ¥ Page Setup | U9 HZaT

Question Number : 100 Question Id : 3354726130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LD, scanner, and printer ara

Options:

1. % hardware | Ti2da7

= ® software | AT

3. ¥ humanware | gA-CIT

4 ® firmware | THO
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